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QUESTION 1

Which two are true characteristics about the lifecycle of a service request?

A. If required, users can manually set the "Closed" status for a service request.
B. Users can reopen a service request when the status is set to "Closed".

C. Users can reopen a service request when the status is set to "Resolved".

D. "Closed" status is set by an automaticjob after a specified number of days.
E. "Customer working" is one of the five seeded status types.

Correct Answer: CD

QUESTION 2

Your customer has asked to investigate a possible bug in their Engagement Cloud Knowledge Base. Users are
authoring and publishing articles but these articles are not visible to other users even though the visibility for every
article is set to all users.

What could be causing this behavior?

A. Authors need to make their articles available in order to set them as favorites, so other users can be notified as the
articlesare updated.

B. Articles are available to users only after the application updates the knowledge base search index. This happens at
regular intervals and there might be some elapsed time before the search index is updated.

C. There is a configuration failure in the publishing task. A user provisioned as "Knowledge Manager" must ensure that
the "automatic refresh for articles” option is set to "Yes" from the "Manage Administrator Profile Values" task.

D. Users that want to see immediate updates to articlesmust have the article in their favorites, so that it is identified as a
document of interest and the user will be informed that there has been an update published.

Correct Answer: B

QUESTION 3

What three things should you do once you have established a global default coverage?

A. Createan ESS job to Monitor Service Request Milestones.

B. Create an ESS job to Aggregate Service Requests.

C. Use Application Composer to configure warning emails about milestone compliance events.
D. Use Application Composer to include milestones on the Service Request Layout if desired.

Correct Answer: ABD
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QUESTION 4

Which three options are advantages of a structured approach to Knowledge Management as implemented in
Engagement Cloud?

A. Shared Acrossthe Organization: The information is available to all users given they possess the right roles, and is
used and reused by them to create solutions and solve problems for other users.

B. In-Article Content Scanning: Knowledge Management is designed to process information inside the documents to
categorize them into the corresponding products and categories to make searches more effective.

C. Single point of maintenance: The Knowledge Base can be maintained easily as it is centralized.

D. Multi-Language Capabilities: Users can create their articles in their native language and enable Auto-Translate to
make it available to users from other regions with different languages without effort.

E. Easy to Search: Knowledge Articles content and Service Request contextcan be used together to
recommend the best Knowledge Articles to an agent.

Correct Answer:. ABE

QUESTION 5

Your customer noticed that all incoming messages containing MIME attachments that are either text or HTML are not
beingreceived.

What is the problem?

A. An administrator needs to set the profile option SVC_EMAIL_PROCESS_UNKNOWN_CUST to Y and schedule the
process.

B. The configured frequency to retrieve emails is too long.
C. Incoming messages have a custom filter.
D. Incorrect configuration of the inbound profile option: SVC_INBOUND_EMAIL_MAX_ATTACH_SIZE.

Correct Answer: C

QUESTION 6

Select three correct limits and restrictions when importing data from a file.

A. Both create and update operations are available for imported records.

B. By default, the import starts immediately after itis activated.

C. Groovy Scripts and object workflows that have been configured for the object being imported are always executed.

D. The maximum number of records in each CSV file should not exceed the maximum limit of 10,000,000 records.
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E. If the valuesin the imported CSV file contain a new line character, then they must be enclosed within quotation
marks.

Correct Answer: ABC

QUESTION 7

Your customer has warned you that non-English speakers are going to get access to articles but all your articles are
written in English.

Whichoption allows the customer to address the problem, so that all users can get articles in their native language?
A. Modify the original base locales of the articles to match the target language.

B. Deploy the Auto-Translate option on existing articles andturn on the "auto-Translate new articles"” feature.

C. Enable new locales for the languages to be used and provision designated users to translate the articles.

D. Diagnose the usage of the articles to eliminate all nonused documents to avoid unnecessary translations.

Correct Answer: C

QUESTION 8

Which two statements are true about system-to-system authentication between Digital Customer Service (DCS) and
Oracle Engagement Cloud?

A. It does not require matching passwords between Engagement Cloud and DCS.
B. It is configured exclusively via the Engagement Cloud Security Console.
C. It enablesanonymous users to search the DCS knowledge base.

D. It must be configured by a user signed in to the Oracle Visual Builder Cloud Service with a valid developer or
administrator account.

Correct Answer: BC

QUESTION 9

Which three subobject functions are included in the REST API for Service Requests (SRs)?
A. Update SR reference

B. Update resource manager

C. Delete activity

D. Update resource member

E. Delete message
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Correct Answer: ACD

QUESTION 10

Yourcustomer sells a wide variety of Mobile phones. To classify service requests efficiently you plan to create a new
primary category called Mobile Phones.

Which four steps are required to define this new category?
A. Select Create Category > Create Top-Level Category.
B. Check the Active flag.

C. Select the task Manage Service Request Categories.
D. Select Status = "Active".

E. Select Service Catalog in Functional Areas.

F. Select Create Category > Create Child Category.

G. Complete Category Name.

Correct Answer. ACDF

QUESTION 11

You created two assignment rules for service requests using the Use Score option. For some service requests both
rules return a result with the same total points.

What will be the expected result in the assignment of a queuefor these service requests?
A. An error will occur; no queue is assigned to the service request.

B. The queue defined in the first evaluated rule is always assigned to the service request.
C. The queue defined by default is the one assigned to the servicerequest.

D. The service request assignment will be unpredictable.

Correct Answer: B

QUESTION 12

Your customer has the following requirement: when filtering service requests an agent wants to see by default all those
service requests that are "New", whose channel type is "Web", and are assigned to them.

Which five activities should be completed by an agent on the SR list page in order to create an appropriate personalized
service request search filter?

A. In Advanced Search, confirm Record Set = Assigned to Me.
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B. Change the section identified with Status = New

C. In Advanced Search, save and select the "Set as Default" box.
D. In Advanced Search, select Action > Update.

E. Click the Show Advanced Search icon.

F. In Advanced Search, Add Channel Type = Web.

Correct Answer: ABCEF

QUESTION 13

Which two options are true about role synchronization for Digital Customer Service (DCS)?
A. is required for every DCS instance

B. also synchronizes userlDs and passwords between DCS and Engagement Cloud

C. enables DCS user authentication through an identity management service (such as Engagement Cloud identity
management)

D. is real time

Correct Answer: AD

QUESTION 14

What four actions do the as-delivered Service Request components included in a Digital Customer Service (DCS)
application enable a DCS user to do?

A. Chat with an Agent about a ServiceRequest.

B. View and edit attachments to a Service Request.
C. Create a Service Request.

D. Delete a Service Request.

E. Add a message to a Service Request.

Correct Answer: ABCD

QUESTION 15
Identify three considerations before starting the configuration of assignment rules to service requests.
A. the attributes of queues to use as criteria for your rule assignments

B. the candidates of service requests to use as criteria for your rule assignments
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C. the candidates of queues to use as criteria for your rule assignments
D. the attributes of service requests to use as criteria for your rule assignments
E. the rule sets you want to create and the rules to include in each rule set

Correct Answer: BCE
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